| mame | owe |PEREOL SR MRS EARR ) s | smen | weoen | pon | EE
1 105044106908269 EIg 125100 LR 216 83.800 [77.900 | sErgtlk | Eb=Armit | dE4 H i
2 105044106902466 g 125100 TRIEH 177 89.200 [74.100 | sEmgilk | Tkt | JE4 H
3 105044106902352 HHE 125100 TrEHE 216 85.000 [78.500 | sErygtlk | Eb=Armit | JE4 H
4 105044106902415 | 3k )E 125100 LREEHE 164 83.000 [68.833 | sErgtlk | Eb=Armit | JE4 H il
5 105044106902434 X2 125100 TR 241 84.800 [82.567 | sEmglk | Tkt | JE4aH
6 105044106902463 | JE L% 125100 LS 162 83.000 [68.500 | sErglk | Eb=Armit | JE4 H
7 105044106902407 | ‘KiFiE 125100 LR 193 87.400 [75.867 | sErglk | Eb=Armit | JE4 H i
8 105044106902444 | FHeyk: 125100 TS 182 82.800 [71.733 | ik | EkEAimit | dE4HH
9 105044106902321 Kok 125100 LrEEE 172 86.800 [72.067 | sErglk | Eb=Armit | dE4 H
10 105044106908272 7 125100 LR 180 83.800 [71.900 | sEryglk | Eb=Armit | R4 H i
11 105044106908270 #3E 125100 TRIEH 186 86.000 [74.000 | sEmmilk | EkArmit | JE4 H
12 105044106908303 | #BE & 125100 TrEE 209 84.600 [77.133 | sErgtlk | Eb=Armit | dE4 H
13 105044106902341 B 125100 TR 181 82.000 |71.167 | sEmEtk | Ek2Ehrmit | JE4HH
14 105044106908284 X 125100 TrEH 196 87.200 |76.267 | sEmatlk | kAt | B4 HE)
15 105044106902346 2B 125100 LR 199 80.400 | 73.367 | sEmME | EkEhrmit | JEHH
16 105044106902299 | FZE-F 125100 ENGEg 175 83.000 [70.667 | sEmmilk | Tkt | JE4 H
17 105044106908277 | ZEH TS 125100 TR 173 79.400 168.533 | gk | Tkt | dE4HE
18 105044106902356 | T 28 125100 LR 229 87.600 [81.967 | sErglk | Eb=Armit | JE4 H
19 105044106902290 | Hemese 125100 TR 190 85.800 [74.567 | sErmhlk | bkt | B H )
20 105044106908262 | ifE# 125100 TrEHE 163 83.400 [68.867 | sErglk | Eb=Armit | JE4 H
21 105044106908299 % 125100 LREEHE 201 90.400 [78.700 | sErgtlk | Eb=Armit | JE4 H i
22 105044106902394 KX 125100 TS 246 84.800 [83.400 | sEmmilk | Tkt | JE4 H —>—k
23 105044106908285 | sk-t— 125100 LrE 182 89.200 [74.933 | sErgtlk | Eb=Armit | JE4 H A
24 105044106908319 FE3C 125100 LR 215 85.200 [78.433 | sErglk | Eb=Armit | JE4 H i
25 105044106908293 | Kk [E1E 125100 TS 215 84.400 [78.033 | sEmmilk | Tkt | JE4aH
26 105044106908267 | FyiE: 125100 LR 170 83.600 [70.133 | sErglk | Eb=Armit | dE4 H
27 105044106902450 | i3k 125100 LR 188 84.800 [73.733 | sErglk | Eb=Armit | R4 H i
28 105044106902414 K2 125100 TRIEH 170 85.600 [71.133 | ik | EkEAimit | JE4HH
29 105044106908257 | mnfki# 125100 TrEE 176 90.200 [74.433 | sErgtlk | k=it | JE4 H
30 105044106902322 RAE 125100 TR 174 90.000 [74.000 | sErglk | Eb=Armit | JE4 H il
31 105044106902413 PN 125100 TS 190 89.800 [76.567 | sEmmilk | Ek=Armit | JE4 H A
32 105044106902311 iR 125100 LR 201 79.400  |73.200 | gk | Tkt | 3E4 Hi
33 105044106908261 | ZE{/H 125100 TR 171 83.200 [70.100 | sEmmilk | Tk prmit | JE4 H
34 105044106902408 E 125100 TR 177 85.400 [72.200 | Ermhlk | Elbachit | B2 H )
35 105044106902351 Jivk 125100 LREE 191 83.200 [73.433 | sErgtlk | Ebk=Armit | JE4 H i
36 105044106908268 | kit 125100 TRIEH 181 83.600 [71.967 | gl | Tk it | JE4 H A




| mame | owe |PEREOL SR MRS EARR ) s | smen | weoen | pon | EE
37 105044106902343 FaT 125100 LR 165 81.800 [68.400 | sErgtlk | Eb=Armit | JE4 Hil
38 105044106902432 | FFHF 125100 TRIEH 175 88.400 [73.367 | gl | Tkt | JE4 H
39 105044106902454 XIFR 125100 TrEHE 183 79.600 |70.300 | gtk | EbFArmit | JE4 H A
40 105044106902399 | FimsiE 125100 LREEHE 220 86.800 [80.067 | sErgtlk | Eb=Armit | JE4 H
41 105044106902283 | #Fk 125100 TR 166 90.000 [72.667 | sErmhlk | kit | B2 H )
42 105044106908301 | ##hik 125100 LS 176 88.400 [73.533 | sErglk | Eb=Armit | JE4 H
43 105044106902460 K& 125100 LR 174 88.200 [73.100 | sErglk | b Armit | R4 H i
44 105044106908321 | R 125100 TrREH 171 94.200 |75.600 | sEmEtlk | kit | B4 HE)
45 105044106902409 R GE 125100 LrEEE 179 88.400 [74.033 | sErgtlk | Edb=Armit | dE4 H
46 105044106908296 IR 125100 LR 178 88.600 [73.967 | sErgtlk | Eb=Armit | JE4 H i
47 105044106902424 Bt 125100 TRIEH 175 82.400 [70.367 | ik | EkEAimiL | dE4HH
48 105044106908290 | XIZEA 125100 TrEE 218 87.200 [79.933 | sErgtlk | Eb=Armit | dE4 H
49 105044106902365 | WiEHE 125100 TR 194 87.800 | 76.233 | sEmEk | TkEhrmit | JEAHH
50 105044106902289 | AAKE 125100 TrEH 178 91.000 |75.167 | sEmatlk | ElkEirmit | E4HE)
51 105044106902420 R 125100 LR 166 84.600 [69.967 | sErglk | Edbk=Armit | JE4 H A
52 105044106908281 | 7karEE 125100 ENGEg 195 83.200 [74.100 | sEmgilk | Tkt | JE4 H A
53 105044106908287 | Z=H W} 125100 TRiEH 233 91.000 [84.333 | sEmmilk | &kt | JE4 H
54 105044106902449 Jig 7% 125100 LR 187 84.200 [73.267 | sErglk | Eb=Armit | JE4 H
55 105044106902300 LA 125100 TR 163 92.400 [73.367 | gl | Tkt | JE4 H
56 105044106908271 | sk 125100 TrEHE 211 88.800 [79.567 | sErglk | &b Armit | JE4 H
57 105044106908295 | # = 125100 LREEHE 183 84.800 [72.900 | sErgtlk | Eb=Armit | JE4H i
58 105044106908291 L 125100 TS 164 85.000 [69.833 | gl | Tkt | JE4 Hl
59 105044106902400 X 125100 LrE 176 88.600 [73.633 | sErglk | Ebk=Armit | dE4 H
60 105044106902453 | Z4:3%) 125100 LR 210 84.200 [77.100 | sErglk | Eb=Armit | JE4 H i
61 105044106908258 KL 125100 TS 189 87.000 [75.000 | ek | EkEAimit | dE4H
62 105044106902387 | £2i5¥ 125100 LR 184 88.200 [74.767 | sErgtlk | EkArmit | dE4 H
63 105044106902304 it 125100 LR 186 88.200 [75.100 | sErgilk | Eb=Armit | R4 H il
64 105044106902447 R 125100 TRIEH 206 89.200 [78.933 | gtk | Tkt | JE4 HA
65 105044106902357 L2 125100 TrEE 197 85.200 [75.433 | sErgtlk | Ebk=Armit | dE4 H
66 105044106902333 &R 125100 TR 168 82.000 [69.000 | sErglk | Eb=Armit | JE4 H il
67 105044106902388 | RAKEE 125100 TR 182 87.600 [74.133 | Ermhlk | Elbahit | B H
68 105044106902417 | T HEH 125100 LR 179 86.000 |72.833 | sEmEtk | TkEhrmit | JEHH
69 105044106902314 | F&H% 125100 ENGEg 165 86.600 [70.800 | sEmmilk | Tk mit | JE4 H
70 105044106902295 Eies 125100 TrEH 169 88.200 |72.267 | Mtk | HlkEarmit | B4 HE)
71 105044106908260 REGE 125100 LREE 169 85.800 [71.067 | sErgtlk | Eb=Armit | dE4 H
72 105044106908302 S 125100 TR 201 88.400 [77.700 | sErmhlk | kst | B2 H )




| mame | owe |PEREOL SR MRS EARR ) s | smen | weoen | pon | EE
73 105044106902292 and 125100 LR 168 85.800 [70.900 | sErgtlk | Eb=Armit | JE4 H il
74 105044106902337 i 125100 TRIEH 224 88.600 [81.633 | sl | Tk frmit | JE4 H
75 105044106902395 i 125100 TrEHE 189 84.600 [73.800 | sErglk | Eb=Armit | JE4 H
76 105044106902354 | AR 125100 LREEHE 167 86.000 [70.833 | sEryglk | Eb=Armit | JE4 H i
77 105044106902384 P 125100 T 175 83.000 |70.667 | sEmgtlk | kit | B4 HE)
78 104594410201115 £l 125100 LS 241 89.200 [84.767 | sErglk | Eb=Armit | dE4 H
79 104954000004370 | fEuHE 125100 LR 239 88.800 [84.233 | sErglk | Eb=Armit | JE4 H il
80 105204666600946 Fit: T 125100 TS 243 86.000 [83.500 | sEmmilk | Ek=frmit | JE4 H
81 105204666600579 | M4 5 125100 LrEEE 230 88.280 [82.473 | sErgtlk | Tk Armit | dE4 H A
82 118464016008688 YEH 125100 LR 217 88.280 [80.307 | sErglk | Eb=Ar a4 | B4 H il
83 104594410020489 | ¥F+FH 125100 TRIEH 205 90.600 [79.467 | gl | Tkt | JE4 H A
84 104874000120913 | 75 £ 125100 TrEE 205 88.800 [78.567 | sEriglk | Eb=Armit | dE4 H
85 105204666600416 M 125100 TR 207 86.600 [77.800 | sEryglk | Eb=Armit | dE4 H i
86 105204666600783 | [BR15HE 125100 TREH 242 74.200 |77.433 | sErgivk | EEamit | e H
87 104864115003519 | ERZEik 125100 LR 185 92.400 [77.033 | sErgtlk | Edbk=Armit | JE4 H
88 104864115003645 i 125100 ENGEg 188 90.600 [76.633 | gl | Tkt | JE4 H
89 104594410200499 | KEE 125100 TRiEH 198 86.600 [76.300 | sEmmilk | Ekfrmit | JE4 H A
90 105594250001880 | FE4EiH 125100 LR 182 91.800 [76.233 | sErglk | Eb=Armit | JE4 H il
91 101864210900056 [z 125100 TRIEH 193 87.400 [75.867 | gk | Tkt | JE4 H
92 104904108002263 | [mf#A 125100 TrEHE 190 88.120 [75.727 | sErglk | Edb=Armit | JE4 H
93 105424441125249 [RES 125100 LREEHE 184 89.800 [75.567 | sEriglk | Eb=Armit | JE4 H i
94 104874000120578 IR 125100 TR 186 88.800 [75.400 | sEmmilk | EkZArmit | JE4 HA
95 105114006101674 | #yhF 125100 LrE 193 86.400 [75.367 | sErglk | Edb=Armit | JE4 H
96 106514125602041 | #X S 125100 LR 209 81.000 [75.333 | sErglk | Eb=Armit | JE4 H il
97 100784125123342 | AplEgs 125100 TS 203 81.400 [74.533 | ik | Tkt | B4 HH
98 105324432320225 A0 125100 LR 185 87.200 [74.433 | sErgtlk | Ebk=Armit | dE4 H
99 105934615301506 s 125100 LR 177 89.400 [74.200 | sErglk | Edb=Armit | R4 H i
100 | 105114006101703 SEAN 125100 TRIEH 180 88.040 [74.020 | sEmmilk | Tkt | JE4 H A
101 | 896424000000205 2 125100 TrEE 179 87.800 [73.733 | sErgtlk | Eb=Armit | dE4 H A
102 | 105114006205675 | i Hk 125100 TR 179 87.400 [73.533 | sErglk | Eb=Armit | JE4 H il
103 | 104594410010461 P ke 125100 TrEH 173 89.120 |73.393 | sEmatlk | HlkEirmit | e HE)
104 | 896424000000241 SR 125100 LR 174 88.400 | 73.200 | sEmEtk | EdkEhrmit | JEHH
105 | 104594410200981 Kz 125100 TR 171 89.200 [73.100 | sEmmilk | Tk prmit | JE4 H
106 | 104634410082328 | #HRZ 125100 TRiEH 173 88.360 [73.013 | sEmmilk | EkArmit | JE4 H A
107 | 105114006205943 | 3Ky 125100 LREE 174 87.200 [72.600 | sErglk | Edb=Armit | JE4 H i
108 | 104974100330924 254 125100 TR 176 85.560 [72.113 | sEmmilk | Tkt | JE4 H




